T 28FE2H (6 A) Ef=—REMESTESR

[6 B10H ()]
= T MW OF x 2
7 fl R R B |1 BEESFEOHEIZONT HEXIIEREE
[—RI—%] 2 ZeXF . ZBXMOBEBTHRELFOHEIZOWVWT | TR XIIEREE
8 W R R AN |1 REEFBHIEOCEHIZOWT k. BERXIX
EElEREIRE
[— #&1]
2 EFREEEEHEHOHEIZOWT HEXIIBRETE
9 g B R B | 1 HBRERREKIZONT TEXIXBERTE
[— #&1]
10 B E R X |1 T4l uoE—vavizonT TEXIXBERTE
[—R—%] 2 ZBEFE - BIJEHOBHE - FTERIZHOWT HEXIIERHE
11 A B OB |1 HWHEHEBLORELIZOWT TR XIIEBRETE
[ — #& ] 2 HIEKEROBEREHRIC OV T HEXIERRE
12 WO T |1 BETFOASLVIZONT HEXIIBRHE
[—F':ﬁ—%t.]




